L I8 B =4
D EIENAE / 5 &R

EUAE - - EATHARENDEEVE
EH 22110.

P i

ENFEER T 2 8IE MR 5 FIRE
EEES TELRR.

B E2ER
- W, L, B SEEEIR

. THW , Bt
The thread is matched to the mounting blocks
for index bolts and index plungers, die-cast
(EH 22110.) and mounting blocks for index
bolts and index plungers (EH 22120.).

EZFm
« XEE, AToERENS EEMAE , BB
© XBE ERTOEIRENS BIEME

2]
l2
L4
ls
/ V.
m pr— ~ -
o 1= “ b= T o
L
l3
ITEER
R+ WMkigtem | WS F ]
d, d; d, d, Iy I, 15 I 15
+0,1 0,05 +0,5
[mm] [mm] [mm] [a]
il
M12x1,5 4,2 24 12 10 16 11 5 1,5 4 4 17 22110.0464
M12x1,5 5,2 24 12 10 16 11 5 1,5 5 4 17 22110.0465
M12x1,5 6,2 24 12 10 16 1 5 1,5 6 4 16 22110.0466
M16 x 1,5 8,2 32 16 12 20 13 7 1,5 8 6 36 22110.0468
M16 x 1,5 10,2 32 16 12 20 13 7 1,5 10 6 34 22110.0470
M16 x 1,5 12,2 32 16 12 20 13 7 1,5 12 6 33 22110.0472
THEW
M12x1,5 42 24 12 10 16 11 5 1,5 4 4 17 22110.0474
M12x 1,5 5,2 24 12 10 16 11 5 1,5 5 4 17 22110.0475
M12x1,5 6,2 24 12 10 16 11 5 1,5 6 4 16 22110.0476
M16 x 1,5 8,2 32 16 12 20 13 7 1,5 8 6 36 22110.0478
M16 x 1,5 10,2 32 16 12 20 13 7 1,5 10 6 34 22110.0480
M16x 1,5 12,2 32 16 12 20 13 7 1,5 12 6 33 22110.0482

B2
EE HALDER Fi&7£: 10.8.2024


http://halder.com/cn/22110.0464
http://halder.com/cn/22110.0465
http://halder.com/cn/22110.0466
http://halder.com/cn/22110.0468
http://halder.com/cn/22110.0470
http://halder.com/cn/22110.0472
http://halder.com/cn/22110.0474
http://halder.com/cn/22110.0475
http://halder.com/cn/22110.0476
http://halder.com/cn/22110.0478
http://halder.com/cn/22110.0480
http://halder.com/cn/22110.0482

LA e BF 4
DEIEMA / 5o EIRE

Az Peatl)

LS

For detailed compliance information please select the desired article number.

TR 2892
ENHALDER IR 10.8.2024



